
Axle, Beam only

See website or catalog for 

hub face sizes, Drop or 

Straight

LC137830-K8

LC122096-K8

76717

76718

K23-343-00

K23-342-00

H1125

H1001

H2257

U105

AWS7

90625

90761

80881

5429

TW23580R16865SWGL 3,520lbs

TW23580R16865MWGL 3,520lbs

TW23580R16865SMGL 3,520lbs

Tire Wheel Combo 235-80R16E, 865 White Spoke

Tire Wheel Combo 235-80R16E, 865 White Mod

Bolts for brake assembly 3/8"-24 X 1" (5) per backing plate

Choose Tire Wheel Combo (see website for full list )

Brake Line Kit, Hydraulic, Single

Brake Line Kit, Hydraulic, Tandem

Nuts for brake assembly 3/8"-24 (5) per backing plate

Choose Brake Type (Backing Plate) (FB=Free Backing)

Brake Assembly 12" X 2" Electric, RT, 5.2k-7k

Brake Assembly 12" X 2" Electric, LT, 5.2k-7k

Brake Assembly 12" X 2" Hydraulic, Painted, FB, RT, 5.2k-7k

** Comes with 7/16" threaded stepdown bolts

H2257 Tandem 35" allows more space between 16" tires

Tire Wheel Combo 235-80R16E, 865 Silver Mod

Common Axle Running Gear

7,000lbs Axle, Eye/Eye Spring

Hub/Drum 12", 865 Bolt Center, w/Bearing KIT8, 5.2k-7k

Leaf Spring, 7 leaf, 26" eye/eye 1-3/4", 7k per pair

Other Related

U-Bolt Kit 3" X 7-1/4", 1-3/4" spring, 5.2k-7k (1) kit per axle

Hanger Kit, Single, eye/eye 1-3/4" spring, **

Hanger Kit, Single, eye/eye 1-3/4" spring, rear eye

Brake Assembly 12" X 2" Hydraulic, Painted, FB, LT, 5.2k-7k

Choose a Hanger Kit

Hanger Kit, Tandem 35", Curved EQ #91301, eye/eye 1-3/4" spring, **

Choose an Axle length

Choose Idler or Drum

Idler/Hub 865 Bolt Center, w/Bearing KIT8, 5.2k-7k

12/2022 7k, Eye-Eye


